=N =
X At L
T %4 W A /N AR R B B AR S, T2
i T 3% Ar Ko miEtm T =T H10—1
b1 EHIRERE A0S 20194F 10H7HET
 WHE BN E
B A HE 2 REERIMLSOEB LML OUaE . 2 B L O

- RRRICHED AR T2 M T



20160521
四角形


P /NSRS RS BE i, T 5 TEMRE RS P RR

= & 68,422,200 a8
T il ¥ 4 62,202,000 a8

THE BIAE 24 %A & 6,220,200 5




% EHE/NERERBERSN EREMTIS No.
% b i3] = = B i 28 &
XIS ¢
| @51 1] K 26,294,962
| EXEE LHE 1] X 4,194,730
0| MR T3 1 = 15,042,370
RN X 45,532,062
Hm gy
I| dEGeE 1] X 1,962,596
| B5EEE 1 =K 7,073,532
— B B 1 = 7,634,089
BiSTE 16,670,217
&t 62,202,279
A RE (T FmES) SHEES 271 e 62,202,000
THE B Y%A 6,220,200
WA (LFEE) 68,422,200




% EHB/NEREREFNEREMIE No. 2
% b i3] =z # 2 Bifg B i & 28 &
A |BETS
Al |FMEESLE T 5 1 X 9,291,110
A2 ML EE T 1 K 17,003,852
&t 26,294,962




% EHEANEREAEFNEREMTSE No.
£ =3 |
Al |BETE
HhEELE T3

Al-1 [EHERER L5 1 3L 3,119,158
Al-2 [ HLETHE 1 KX 541,408
AL-3 [Pk dfE L& 1 K 884,396
Al-4 | BEE T 5 1 KX 2,124,969
Al-5 BB TE 1 K 1,148,224
Al-6|ZDfh T3 1 K 1,145,723
INEAE ERPUTE ¢ 1 K 327,232

oz 9,291,110




% EHEANEREAEFNEREMTSE No. 4
£ L 1 = E Hf {iff £ &
A2 |BETE
ML doE TH

A2-1 [EHERER L& 1 3L 800,832

A2-2 [ HYETH 1 KX 3,750,688

A2-3 [N e L& 1 K 5,686,081

A2-4 | BT H 1 KX 71,211

A2-5 |22y R O Ofll T3 1 K 4,962,510

A2-6 |- vy B 1 K 1,732,530
At 17,003,852




% R VP /N A RORBEE UM LUE A 5 [FPRR] No.

4 P fii = % = HLAL A & A

1 [REBEMIMESE T F 1 =X 90,450
2 | HEERMUSE LF 1 = 4,104,280
& 7t 4,194,730




£ FR P /N2 B B BE i i, T 5 [FFNER] No.
4 g i L) e AL B 4 KA i
I |[EX&ETE
1 [REBEMIMESE T F
1) YE75 2% A 1 = 90,450
a &t 90,450
2 |HEEMM LU TH
1) FBAT A 1—1) BT o1l 1 5 2,461,220
1—2) 3B My 1 = 496,850
2) B TR Rl 1K 23,090
3) W R 3—1) ML M HH AL E 1 = 420,730
4) KSR 4—1) HELA S 1 5 44,760
5) 1 PNID EAR 1 = 657,630
& g 4,104,280




% EHEANEREAEFNEREMTSE No. 2
£ L 1 = E Hf {iff £ &
I (HEWERFEISE
A |[h L]
A-1 |G 1 K 177,450
A-2 |fiTAas Bk 1 K 6,251,190
A-3 |fa/KE A 1 K 2,538,370
A-4 [HEAKFRAH 1 K 4,986,020
A-5 | AR i 1 K 464,340
A-6 | L= 1 3L 625,000

op
Tl
+

15,042,370




